Q. P. Code: 36351

Time: 3 hours Marks: 100

Note: i) All questions are compulsory.
i) Each question carries 25 marks.
Q1. Answer any TWO of the following.

a) Define fertility. Explain various social factors affecting fertility.
b) What are the economic factors determining age at marriage?
c) State the reasons of declining mortality rate in developing countries.

Q2. Answer any TWO of the following.

a) Define migration and state its types.
b) Review the Theory.6fMigration given by Harris and Todaro.
c) Discuss the issues of urbanization with respect to water supply, sanitation and

transport facilities.
Q3. Answer any TWO of the following.

a) Describe salient features of India’s population policy.
b) State the importance of family planning inspopulation control.

c) Write a note on population projection in India
Q4. Write notes on any TWO of the following.

a) Life tables
b) Pattern of urbanization in India

c) Family planning in India
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